KSZ&5I#ELA
KS series module KS 86
BERUEE CJETEBYSEIKES Code

KS60 - 056 - P - 200 -

KS 6 kssiﬂlr%?module

AEERISE HEPREARA
[tem NO. g Covel Limit Switch gth on i er
P: BER AtRfER CHBiPE SO:ABERIREE AR FO-F6 CHEHE - HERRENIE
Precision Class Standard Type Aluminum Cover Only limit orbit Standard Type HO Aluminum Cover nly limit orbit
10 C: —fReR 300 SiZHEl TAT2/TS B STAATPM-VY45 20 C: —R SiEHE TOT1/T6 BifsERE S1ATPM-Y45
Normal Class Light Load Type B Telescopic cover Panasonic PM-Y45 Normal Class Light Load Type & Telescopic cover Panasonic PM-Y45
TARC: TIFE TR TIFE
None: no cover None: no cover
Y axis
Y
D
Center of gravity
Ix: E%XHZ@% Moment of inertia along the X-axis Ix: E%XHZ@‘E%E Moment of inertia along the X-axis
Iv: EﬁYﬁEZ‘E’E\_&'}‘E Moment of inertia along the Y-axis Iv: ﬂ%YﬁEZTQEﬁ Moment of inertia along the Y-axis
{EiAE Bf:mmé i3] BfI:mme
BUR Ix Iy B I ly
KS60 2.056x 10¢ 2.802x 10¢ KS86 7.445 x 104 1134 %106
- Basic Specification - Basic Specification
EHAXIRE BEAXRE
5 = =FoECLD = = 4 5E
=F = ea de Ba e ea de
R ey 25 £ EXREEEaen EASEEan ZAEFER 4B Permissible Static Moment ithE /AE oY 2& ZX EZSQ%EEE&EJ EZ}S%@EE‘E&H BEFEFI%E Permissible Static Moment
HME EIEE] EFEE Basic Dynamic Basic Static Rated _ HME = 238 L] Basic Dynamic Basic Static Rated __ : i
leks Nominal | #2 | ZEETE |FEETE| RetedLoad (N) Load (N) 1§00 Pitching  Mp (N - m) {18 Deflection My (N - m) 98] Rolling Mg (N -m) od Nominal | F2 | REafa | Efafar| Ratedload (N) Load (N) {FF{I Pitching M. (N - m) {R#E Deflection M, (N - m) &) Rolling Mg (N-m)
utside | lea i ic Stati Outside | lead |Basic Dynamic| Basic Static | 4 3 3 3 3 3 N g 3 N 3 3 g N 3 N
st O oS g A TR S | TREE A | TBEE S |TREE A1 | TBEE A2 | TREE ST | EE S2| TEE A1 | TBEE A2 EE S1|TREE S2| EE A1 | TBEE A2 [FBEE S1|7BEE 52 Dt ) v on | rod oo JOE A | BEE S | TBEE A | BEE S |BEE A1l BEE A2 | BEE S1/BEE S2| EE Al | BEE A2 | BEE St BEE S2) BEE A1 | BEE A2 | BEE 1| BEE 52
(mm) N N) |Slide Block AlSlide Block S|Slide Block AlSlide Block S[Slide Block A1| Slide Block A2 | Slide Block $1 | Slide Block 52 | Slide Block A1 |Slide Block A2 Slide Block $1 [Slide Block 52| Slide Block A1 | Slide Block A2 |Slide Block $1 Slide Block 52 (mm) (N) (n) [Slide Block AfSlide Block S [Slide Block AfSlide Block S|Slide Block A1| Slide Block A2 | Slide Block S1 | Slide Block 52| Slide Block A1 | Slide Block A2 Slide Block 1 [slide Block 52| Slide Block A1 | Slide Block A2 Slide Block 51/ Slide Block 52
P 7144 (12642
KS 6005 % 12 |5 2;‘7“7‘ 223‘; 132301 7173 |21462 111574 152 | 760 | 72 | 367 | 152 | 760 | 72 | 367 | 419 | 838 | 241 | aso KS 8610 15 |10|—r5o—17ags1 31458 (21061 50764|20475| 622 | 3050 | 228 | 1309 | 622 | 3050 | 228 | 1309 | 1507 | 3014 | 847 | 1694
P 4645 | 7655
ks 6010/ 12 [10] 240 [3743 V13530 71473 |21a02 11674 152 | 760 | 72 | 367 | 152 | 760 | 72 | 367 | a19 | ea | 241 | 482 KS 8620 | 15 |20[—mz—cooo31458 21051 | 50764|20475| 622 | 3050 | 228 | 1300 | 622 | 3050 | 228 | 1309 | 1507 | 3014 | 847 | 1694
e > ST Cl REfiL TEFITE (mm) B ARENIHA (N - cm)
Rugs HEREE E*ﬁﬁiiﬁﬁfﬁ (mm) ?TE:,F?TE (mm) EARENHF (N - cm) Lﬂﬁ%’% etitive Accurac ing Parallelism Max.Driving Torque
Cod Length of)RaiI Repetitive Accurac! Traveling Parallelism . T
ode mm [¢
200 440 +0.003 +0.005 0.015 / 15 10
300 +0.003 +0.005 0.010 / 15 7 KS 86 540
KS60 200 640
740 0.020 / 17 10
500 £0.003 +£0.005 0.015 / 15 7 940 Sy S 0.030 ] %5 10
81.2 4-M5x0.8Px8 DP 16
2xm-M2.5x0.45Px4 DP 50 . 5x4. 75
2x2-M3xU.5P:;nDP : : \ ) 30 2xn-05.5 THRU.09.5x4.7 DF @ % 2xm-M2.5x0.45Px4 DP 15425 - 4-Méx1Px12 DP
42 \ L ) 2x2-M4x0.7Px10 DP 2-M2.5x0.45Px4 DP 2xn-@6.6 THRU,@11x6 DP a @
30 —J 2x2-M4x0.7Px10 DP
" i | SHETETEE 4.0 ) oo 2 R T om0z aTaE
ol ~0| A N F Al
| ]g ‘@E‘f g‘ﬁ’;]’*”i’i’%’i”* e iy ”g; vawmonroboten |'<—>‘ ! O * : ¢ | :’ ‘r www.limonrobot.cn
“ EEWWAE[NN]Q] e @E o2 1% | H& o+ - < ;gﬂq 3 ’*”*’7’ﬁ’7 T e—— X T8
f f: [ il = —T ol g ] 0
30 sl : e MRS @ ! o [lo]|Pe L
60 e 2-M2.5x0.45Px3 DP/|__[15x1.5 0P e |46 _|20]__ o — +
SECTION A-A K K G 86 o 65 [ o 6.5 ]
5.5 L2 8.5 SECTION A-A (m-1)x200 6.5
K]
59 87
19_._30.5 23 50
4-M3x0.5Px8 DP 7.5 4-M5x0.8Px10 DP 2 35
PCD 40 1 l 1 PCD 70 \ 13 5] |
m A m _ }{, === @ 23 i A _m_, ‘ - _
9 o | ] (P 1| 15 VIEWB “ : E RN o ,,,,7,7,L,7’14wgim I 7,7%{ [fi,,,i, 2 ¢ views
\’% ~ ° i ° ; ° - ) - | 7‘,1%* o| | . H 4 | + T 8 3 T
i A R p 1w | e i i m R
! ! [y 2 i —y =
4-M4x0.7Px8 DP) 2‘ 100 G s /4-M4x0.7Px8 DP ? 100 70 8
PCD 40 (n-1]x100 PCD 60 (n-1)x100
VIEW B VIEW B 2 .
HEEE 2F =AITRE (mm) E=E (k)
(mm) . N G(mm) K(mm) n m - - s SAFE (mm) =& (kg)
L2(mm]  L1(mm) A1;8E A2 BEE AVBEE  A2BEE HERE =R DS Himm) n m —
150 220 60 - 25 00 2 2 15 - L2(mm)  L1(mm)  A13EEE  A2iBEE ABEE  A2BEE
200 270 110 - 50 100 2 2 1.8 = 340 440 210 100 70 3 2 5.7 6.5
300 370 210 135 50 200 3 2 2.4 2.7 440 540 310 200 20 4 3 6.9 7.7
400 470 310 235 50 100 4 4 3 3.3 540 640 410 300 70 5 3 8.0 8.8
500 570 410 335 50 200 5 3 3.6 39 640 740 510 400 20 6 4 9.2 10.0
600 670 510 435 50 100 3 3 42 46 240 20 Sl 500 70 7 4 10.4 .2
#iE: REIMETHASIECS, MMLIMONEI, - — 810 200, 20 2 2 né 124
1 1 #Note: The shaft diameter can be special made in ®8, pls contact LIMON. 1
www.limonrobot.cn www.limonrobot.cn 2



KSER I
KS series module

B W,

1 3 www.limonrobot.cn

Me
4 X1 ¢+ | ¢
1
SN 7 1 ]
@
[ e el+]e
" SS
B IREIR T S
TERRENIE !
A ] L
'
N
° Y
' —F 7
— 58 —
b e
R c d e f
KS50 41.3 48 1 10.5 10.2 1
KS60 46.2 52.8 4 14 3.2 13
KS86 59 65.7 8 18 3 18
KS50
BEREF0
14 16.534 PCD33 4-M3x0.5Px6DP
o) ‘
e R
1 _:TJ‘ 7777777 ] S E]T Ix\\ Q/I g,
%E@%;iﬁﬁ F1 5. PCD46  4-M4x0.7Px8DP %é@%;iﬁﬁsf3 49 4-@3.5Thru,
32 — @6x3.5DP
17 s o A | /\m —ﬁ 3 e 9 4-M3x0.5P Thru
810 i q
e Rt S 1 g& d % — 1B : 7;% %i
TSR AR F2 ERIR[EIERE HO
14_ 165
60 85 PCD45, 4-M3x0.5Px8DP 494 4-M3x0.5Px8DP
: | N e | —2— ,
s I Aﬁ% & ‘j ! 5 &
L i i ﬁﬁ @ ld & o ©
o — é‘? E ] ] ‘L !
g 2

KSE&5I#EAE
KS series module

@6h7

2287003 ‘

1y

PCD40  4-M4x0.7Px8DP

PCD46

226.5

230'3%

042

FEIEIERAR F2

10

PCD45,

—{ ;j:

142

EEREIEREHO
18 19

5
\

:JT%
B=

]

@8h7
230h8

44.5

pra

()

BBIfTIRIR-T2

@8

FEIEERG AR F3
59

=

=

}}

10 4-M5x0.8Px10DP
3l
B,
d3l8 g o
| © O 0|
(52
S8 ,
e

/

4-@3.4Thru,

D 6x4DP

i

43

10 4-M4x0.7Px10DP
3l | 47.14
&
@
.
22
el EE =
N 0 ~
5l <
ST O
8.
g
N} o
Q

44

4-M3x0.5PThru

X

@
| e—--

www.limonrobot.cn

14




KSRJI#RA KSRJIRHA

KS series module

KS series module
KS86

2 [y IR e + S=i= 73
EESERE FO et A7 F4 ERBIEEER
23 8;0 23 B;O =
_% s 4-M4x0.7Px8DP 85 ’2—1_2:
8 1t —_— . . .=
e e 4y s =2 Mitsubishi {FIRFEIE
e = L
777777 1 —— . 2 B AL TE =8 .
o | ‘ = o e o / T EEE
el °°‘ ss || PR, ot KS50 KS60 KS86 g
EEEE ARG F1 EEEE LR F5 10W  HC-AQV135D 0.19 - - = 029  M-R0MS 02
S 10 5 8 20W  HC-AQ235D 0.22 = = = 032  M-R0AS 0.2
2 . 2. 50W  HF-KP053 0.35 F1 F1/T1 F2 075  MJ30A 08 220V
v = Xy T 100W HF-KP13  0.56 F1 F1/T1 F2 0.89  MRJ3S-10A 0.8 220V
iHL = | €52 ﬂwt = e e 200W HF-KP23 094 - - FO/TO 1.6 MR-J35-20A 0.8 220V
Q Q
— ‘ — Re—— H 400W HF-KP43 15 - - FO/TO 21 MR-J3S-40A 1 220V
e s 750W HF-KP73 29 - - - 4 MR-J3S-T0A 1.4 220V
EiEER AR F2 BiEER AR Fbé
87 8
87 8
23 ’2—8511 o5 23 2850
] ‘ 8]
v i v i
1=y %3 I\ = >
:ﬂ# = [ Hae = (B[ Hg2 AT Panasonic {AIRRFSE
T N S B I il 8t s _
- - - =8 EFAR RIS poroe EE
A== e ;2—: w3 I5| LT} o
i A F3 BSEEERE HO as K9 KS50 KS60 KS86 K9 K9
87 8
B 0 2328 o5 50W  MSMDSAZP1 0.32 F2 F2/T2 F3 0.53  MADDT105 0.8 110V
28 ?3_’ = 40 4-M5x0.8Px12DP
18 13| ; - 50W  MSMDSAZP1 0.32 F2 F2/T2 F3 0.53  MADDTI05 0.8 220V
77777 ] v T 1 |F = %ﬁ 100W  MSMDO11P1 0.47 F2 F2/T2 F3 0.68  MADDTTO7 0.8 110V
— WL == ;Eé g L g “l {&%} 8 100W  MSMDO12P1 0.47 F2 F2/T2 F3 0.68  MADDTT05 0.8 220V
[ [ | —_— = )
— 5 # 200W  MSMDO21P1 0.82 . . F1/T1 13 MADDT2110 1.1 110V
° " 200W  MSMD022P1 0.82 . - F1/T1 13 MADDT1207 0.8 220V
= 2 0.5 = 2 N R
SIS TO “ § SRS T - 400W  MSMDO41P1 1.2 - - F1/T1 17 MADDT3120 1.5 110V
~ . g i o 400W  MSMDO42P1 1.2 - - F1/T1 17 MADDT2210 1.1 220V
i \%;/ ppY 750W  MSMD082ST 2.3 - - F4 31 MADDT3520 1.5 220V
“ @4
,@Q é/& @ 1447
—— f N,
Z) | BIREE
Bl L. 58 &% BRI . EE ..
e FE Ko kg B kg
: KS50 KS60 KS86
n 10W  SGMMV-ATA2A21 0.3 - - - 0215 SGDV-R90AOIA 09 200V
Egiﬁ: *Ei%'-r6 4 60.50
: ai 20W  SGMWV-A2A2A21 0.17 - - - 027  SGDV-R0AOIA 09 200V
e 50W  SGMAV-ASADAGT 0.3 F1 F1/T1 F2 - SGDV-R70A01A 09 i
oIl 3% % 50W  SGMAV-ASADA2C 0.3 F1 F1/T1 F2 - SGDV-R70A01A 09  4mE§E
@ . 50W  SGMAV-ASADA21 0.3 F1 F1/T1 F2 075  SGDV-R70A0TA 09 chigE
™ 100W  SGMAV-01ADA64 0.4 F1 F1/T1 F2 089  SGDV-R90AOIA 09
) . o 200W  SGMAV-02ADA65 0.9 - - FO/TO 16 SGDV-IR6AOIA 09
B 400W  SGMAV-04ADAG6 1.2 - = FO/TO 21 SGDV-2R8A0TA 1
750W  SGMAV-08ADAG7 2.6 - - - 4 SGDV-5R5A01A 1.5

1 5 www.limonrobot.cn www.limonrobot.cn 1 6



KSE&5I#EAE
KS series module

2x2-M2.6x0.45Px4 DP

4-M4x0.7Px10 DP

2xn-@4.5 THRU,@8x4 DP

e ]
~
Vg _
SECTION AA 2x2-M3x0.5Px4 DP__| 8| >
K G
12
]
60
14, 34
4-M3x0.5Px6 DP . J%g,
PCD 33 \ 10 A
[‘ J\\ 5 = it \’:; it I
P/V ° 0 // u l : l l N ]
g ’ % S ‘ ai [ %2 _VIEWB
B e R | T = = o e
1o oxt7d 9 2 I o —] o o p-—-—— _ 18
\ o ” — :
= VIEW B S 80 6 S
(n-1)x80
i BAITE (mm) £ (kg)
E}LJ{EEJ}E ek - N = . G(mm) K(mm) n Ei - <
Lzlmm] — L1(mm) A1 gpe A2 BEE Al SBEE A2 BEE
150 220 70 - 35 80 2 1.1 -
200 270 120 55 20 160 3 1.3 15
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0
KS60 8
2x2-M2.6x045Px6 DP_ 3 4-M5x0.8Px8 DP_
g 2xm-M2.6x0.45Px4 DP 2xn-85.5 THRU ,@9.5%4.7 DP
64
e .
Il ‘\@J’@‘ — 7{‘
o _|f m f e 1 ©
q— : — e Co====% 2
G e S NE A - L SE0c 2 1 S Rl
30 |15 __ [
60 6
SECTION A- A G
59
18.5_30.5
4-M3x0.5Px8 DP 1 A 15.5
T 9
: —r
/ | = g
0 § | —————[l| i TL:;{% S _VEW B
< R4 " R 3 % {J ~N
L —— | | S
| N P — — AN =
4-$M4xo.7pxs DP g‘ ﬁoo G ©
PCD4O o (n-1)x100
HEEE & BRAATHE (mm) E3-4(C)

( )1 1 S s G(mm) K(@mm) n m g :
L2(mm)  L1(mm) Al;8EE A2 i BEE AlBEE A2 BEE
150 220 60 - 25 100 2 2 1.7 -
200 270 110 - 50 100 2 2 2.1 -
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5 3 3.9 4.2
600 670 510 435 50 100 6 6 4.6 5.0

17

www.limonrobot.cn

2xm-M2.6x0.45Px4 DP

4-M2.6x0.45Px6 DP

4-M6x1Px12 DP

KSER5I#EA
KS series module

2xn-@6.6 THRU,J11x6 DP

l
2 4‘,, i
o L
| 46 _|20
86 ;)
~
SECTION A-A (m-1]x200
87
23 _ 50
4-M5x0.8Px10 DP 1 28 35
7PCD 70 3 A 18]
I U e
o V1 4e [F———1[5——-"1g%5 _vEws
y - | . | 158
If i !
L iF I I o~
! LA &
4-M4x0.7Px8 DP 100 70 |
PCD 60 (n-1)x100
L2
VIEW B X
HEEE 2F BAITIE (mm) H (mm) . o =& (kg)
L2(mm)  L1(mm)  A1VEEE A2BEE ABEE  A2BEE
340 440 210 100 70 3 2 6.5 7.3
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 5 3 2.0 9.8
640 740 510 400 20 6 4 10.3 1.3
740 840 610 500 70 7 4 1.6 12.4
940 1040 810 700 70 9 5 13.0 13.8

www.limonrobot.cn 1 8




